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       2=cg"bfg

6=2 u_ bft[ ;+:yf /sd ? xhf/df

kl/df)F ef/ ah]^ kl/df)F ah]^ efl/t kl/df)F efl/t kl/df)F efl/t

1 2 3 4 5 6 7 8 9 10 11 12 13 14

1 lj/f bf]efg lzj dlGb/ uf]^f 1 2.20 100 1 100.0 100 0 ० 0 0

0

2 e}/j df8' lgdf{0f jf8f uf]^f 1 2.20 100 1 100.0 100 0 ० 0 0

0

3 Dl0fbx dlGb/ lgdf{0f uf]^f 1 6.59 300 1 300.0 100 0 ० 0 0

0

4 lzj dlGb/ /f]n uf]^f 1 3.30 150 1 150.0 100 0 ० 0 0

0

5 jfDgL lj;] di6f dlGb/ uf]^f 1 4.40 200 1 200.0 100 0 ० 0 0

0

6
sjf di6f u'?of]hgf lgdf{0f 

tyf ;+/If0f uf]^f

1 4.40 200 1 0.0 0 0 ० 0 0

0
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cfof]hgfsf] s'n dWo] 
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s}lkmot

3=dGqfnoM ;+#Lo dfldnf tyf ;fdfGo k|zf;g dGqfno

;+#Lo dfldnf tyf ;fdfGo k|zf;g dGqfno

vTof* ufp+kflnsf d'u'

jflif{s k|ult

2=ah]^ pkzLif{s g+= 

1=cfly{s aif{ 2074.075



7 vf]kf8] hndlGb/ lgdf{0f uf]^f 1 10.99 500 1 500.0 100 0 ० 0 0

0
8 ?dfn df0f' ;}g uf]^f 1 2.20 100 1 100.0 100 0 ० 0 0

0

9 bNgfdf8' 3]/jf/ uf]^f 1 6.59 300 1 300.0 100 0 ० 0 0

0

10 di6f dlGb/ n'O{ uf]^f 1 4.40 200 1 200.0 100 0 ० 0 0

0

11
lqj]0fL dlGb/ lgdf{0f l/uf 

qmdfut uf]^f

1 15.38 700 1 700.0 100 0 ० 0 0

0

12
lzj tyf di6f dlGb/ lgdf{0f 

7fdn]v uf]^f

1 4.40 200 1 200.0 100 0 ० 0 0

0

13

gvlh{ b]lv gb} ;Dd lgdf{0f 

ko{6lso jf6f] lgdf{0f

uf]^f

1 32.97 1500 1 495.0 33 0 ० 0 0

0

100 4550 3345 74 0 ० 0 0

0

b|i^AoM 1 ;fna;fnL ?kdf ;+rfng x"g] sfo{qmdsf] xsdf dxn g+=13 / 14 eg"{ kb}{g

     2 aflif{s nIF k|ult k|:t"t ubf{ ;f] cf=a=sf] k|ult dxn g+=7, 8 / 9 df pNn]v x"g] ePsf]n] dxn g+=10, 11 / 12 eg"{ kb}{g .
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